T2 6 FEEESFFRUERFRIKKGERRE

% 8 2 M AAEHFFARBFHEKABRERE

FEEERBREKIKS

A3—FJX b

#EHNo. 35 TF 400m @BAAFL— FE 64

Kig o B K 4 PB4 FE

148
0
1 dtiEE 12 ol =& Thh™ 7 319 B SR VEUY I
2 B B 6005 WA Wi IRt WIms YWIIFH =3
3 & M 4071  TIBEAHE YRV I BHEZE /9 =1
4 @R 2413\l BAE 1vh7 bE3 B KR 347 &2
5 = W 1045 ER FE AN 95 ht it LY, =3
6 =X = 2335 5% mWxE ) W B k)3 =2
7 deiEE 47 ERHthEE Y7 % v FLIRAE #9349 =1
8
9

2#8
0 A 4115 BE HWx% PUM B pytan =1
1 m E 2108  FHEIMEE I8 43 FEFE 191y &2
2 F N 7010 HiF FEsE WY F 73 BEFhR WwFty &3
3 m A 5038 Il BF thh' v ¥a AR K KGN =2
4 = AR 5041 S Eil 132y Yk RERSL K KGN =1
5 @R 2357 Nk WmE VT #8E T KR yagrvanh =3
6 = A0 4146 EmMA oy s 74 FRAPERE Fi9%an19 =3
7 ® H 1054 #RE T 7AD t1 #Ed TH5%4 =2
8 B E 2119 #&® FE£EHM My I e 71y =3
9 E 4 8077 & TE AN FHb R bl 1977 =3

348
0 @RI 2449  H#R @i h% Y 9% BESR It + =1
1 Z Al M7 R HF=E Y77 % M3 BITXKAE MP vy &3
2 E E 5217 |/l F&EK 1vh7 &3 EEZHE AN B2
3 B A 4094  JNIEF #EFT M+ 1Y BHRIHFE MIZUHO =1
4 KX I 5092 Eiih R V¥ UF KAKRE t3vanata &2
5 = B 5233 Pl E% I EEES S EZERBEXR 31914 =1
6 F % 21719 =FER & YR EN RRF0ZE R Y197 M &2
7 X B 5103 RA/INEE NEBTD TR NZ nv74 =3
8 B E 20714 ®#EXx W AR hIT EBEHEXR $3914 =3
9 @R 2425 {FER EF 1My 3fb B g4 F NSy 3y B

448
0 % B 1097  #XE  FmE WE FiE B 1%h =3
1 X KR 5152 KBLiEF 1t/ 93 ABERKS  HMMt{m19 =2
2 K & 8074 JIR ZE3RL 2905 74Y RIGHE%E SEUVEY] =3
3 E E 5180 Bk HE YR 73 IR E SVED] =2
4 =T A 4198 |LE F= ¥4 Ftn &)1 FH73Y =3
5 B R 2319 WO X WO F MY ERES VAUAUYY =
6 =T 1B 70713 ® RAE TAY MR EHH W91 &2
7 = [ 8028 FFHMY I+ ThY {EERER yamavhy &2
8 ® & 8073 & S by 13 RI&w #3152
9 Iz B 4230 HOZXE 49" F vah ZBREMm 4732y =3

Page: 1/2 Printing: 2014/08/16 14:45:51

SEIKO



T2 6 FEEESFFRUERFRIKKGERRE
% 8 2 M AAEHFFARBFHEKABRERE
FERERBEKIKES

A3—FJX b

#EHNo. 35 TF 400m @BAAFL— FE 64

Kig o B K 4 PB4 FE

5%8
0 disE 14 WAEZE 73v Y FLIRERE 2419 =2
1 E W 3009 H#ME RIE Wy 31 EREE ahthvany =i
2 & =B 8067 T/ H=E E34Y 1% EEmEE vy &3
3 & N 7022 Kvg HIE Ty 370 &I B Izy =3
4 BB 2004 A0 =8 520" F 13 XS5 b 4 =3
5 F % 2165 fEO EE (/0 N mIIZE 1Fho0° 9 =3
6 & M 4005 [@EF B 1hh7 EF3 BXK=8 FEABY Bl
7 w A 6060 F&F EBE VL7 19t =K B3R =3
8 £ % 3092 #EH =FH #9314 3% REZF M5y 52
9 ® = 2300 FHAER ME Bx@AEXME F 31 &3

648
0 £ % 3072 mE AT 49 19% E¥HAX i J=F &3
1 F OE 2162 kB Bt #hy 4 IS 1¥7% =3
2 & M 4075 #E IEF 75 B4 Nt =3
3 X M 5147 ZH #= /5 bt ARERKS 441919 &3
4 =B 2317  EiEFIEME 7hikd Yt B ERE vigMant &2
5 ® = 2223 AH FE& 14 IO SR KM YN8 4T H2
6 & [ 4072 FHih WK ¥ 11 BREXE 1979 =1
17 £ B 5232 I B 4% I3 PH #h34 =3
8 E % 3066 Ak Efh 1y REEZE CHOSHO =2
9 W A 6063 BEH EHM 74 Yo *E tah th &3

SEIKO Page: 2/2 Printing: 2014/08/16 14:45:52



